Lilly shelf module 90/120/140

® O
2 PERSON ASSEMBLY || "

FLOOR AREA S
2.5M X 3M @

REQUIRED ASSEMBLY TOOLS (#>

[

ASSEMBLED DIMENSIONS

JIVY

page 1-11




Lilly shelf module 90/120/140

page 2-11




Lilly shelf module 90/120/140

NO. PARTS LIST QTY NO. PARTS LIST QrTyY
€@ Front left/Hind right leg 2 (5 ) Side beam 2

@) Hind left leg/Front right leg 2 6 Crossbeam 1

9 Left front/Right hind beam 2 0 Compartments 3

@) Left hind/Right front beam 2

page 3-11




Lilly shelf module 90/120/140

HARDWARE LIST

7cm

6cm

5cm

4cm

3cm

_____2cm
____1cm

Ocm

o O LI H] Q

12x 12x 4x 8x 4x
M6X1.3 M6X13 M6X12 M6X12.5 @8X30mm M6X35

A B C D E F

24x
@21

8cm

7cm

6cm

5cm

4cm

3cm

2cm

(s

1cm

Ocm

£ py |

8x 1x 12x
M6X35mm M6X75mm @15X10

a#
H I J K

2X
M6X130mm

L

page 4-11




Lilly shelf module 90/120/140




Lilly shelf module 90/120/140

L STEP 34

page 6-11




Lilly shelf module 90/120/140

page 7-11




Lilly shelf module 90/120/140

page 8-11

i S

Y74




Lilly shelf module 90/120/140




Lilly shelf module 90/120/140

S )
. O
%‘3‘ S A
» 5 § S
> O

1x 1x 2X 1x

A J

Safety tip: Please attach the bed to the wall using
the hardware provided. page 10-11




Lilly shelf module 90/120/140

page 11-11

q
N \/
e







	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)
	B边层架 1270说明书 Model (1)

